SM Lagrangian From last time.

Focus on these terms today. After setting  $H = \begin{pmatrix} 0 \\ v \end{pmatrix}$  and diagonalizing  $Y_{ij}^e$ , bottom comparent of termion doublet  $L_f = \begin{pmatrix} 0^f \\ e_i^f \end{pmatrix}$  is  $\frac{1}{2} : e_L^{f+} = -D_n e_L^f + i e_R^{f+}$  on  $D_n e_R^f - y_f v e_L^f e_R^f + h.c.$ 

we want to identify  $y_{+}v = Mf$ , but for this to describe chased leptons (electrons, maons, taus), we have to be able to combine Lad R spirors into a 4-compount spiror  $Y = \begin{pmatrix} e_{L} \\ e_{R} \end{pmatrix}$  with the correct electric chase. Recall Y = -1 for  $e_{R}$ , but  $Y = -\frac{1}{L}$  for  $e_{L}$ , so this isn't quite right.

In fact,  $Q = T_3 + Y$ , where  $T_3$  is the 3rd generator of Su(2).  $T_3 = \frac{1}{2}\sigma_3 = {\frac{1}{2} - 1/2}$ , so  $e_L$  is an eigenvector of  $T_3$  wherevalue  $\frac{1}{2}$ .  $Q_L = -\frac{1}{2} + (-\frac{1}{2}) = -1$   $Q_R = 0 + -1 = -1$ 

Conclusion: electromagnetism is a linear combination of SUCZ)
and U(1), gauge bosons

We will see later on that the remaining SU(2) gauge fields are much heavier than me, mn, so for the time being we can ignore then.

$$\mathcal{L}_{RE0} = \left(\frac{3}{2} + \frac{1}{4} (i \partial_{n} - e A_{n}) \gamma^{n} \psi_{+} - m_{+} \psi_{+} + \frac{1}{4} f_{n} F^{n} v\right)$$
where  $\psi = \left(\frac{e_{L}}{e_{K}}\right), \quad \overline{\psi} = \left(e_{K} + e_{L}^{\dagger}\right) = \psi^{\dagger} \gamma^{0}$ 

Classical Spinor solutions

Look for solutions  $Y = e^{-ip \cdot x} {x_L \choose x_R}$  where  $x_L, x_R$  are constant 2-corp. Spinos  $= 7 Y^{n} P_{n} {x_L \choose x_R} = n {x_L \choose x_R}$ 

$$\begin{pmatrix} 0 & \rho' \sigma \\ \rho \cdot \overline{\rho} & 0 \end{pmatrix} \begin{pmatrix} \chi_{L} \\ \chi_{R} \end{pmatrix} = m \begin{pmatrix} \chi_{L} \\ \chi_{R} \end{pmatrix}$$

First look for solutions with  $\vec{p} = \vec{0}$ , conconstruct the solution for general  $\vec{p}$  with a Lorentz boost.  $\vec{p} \cdot \vec{\sigma} = \vec{p} \cdot \vec{\sigma} = m \vec{1}$ , so

$$\begin{pmatrix} -1 & 1 \\ 1 & -1 \end{pmatrix}\begin{pmatrix} \alpha_L \\ \alpha_R \end{pmatrix} = 0$$
 =>  $\alpha_L = \alpha_R$ , but a travel unconstrained

Choose a basis!  $\chi_{2}=(0)$  or (0), so let 4-component solutions be

Just like with complex scalar Fields, there are also negative-frequency solutions  $e^{\pm i\rho \cdot x} \begin{pmatrix} x_L \\ x_R \end{pmatrix}$  that represent antiparticles: positrons. Changing sign of  $\rho^o$  means  $x_L = -\kappa R$ :

Note: different labeling convertion from Schools.  $V_{\Lambda} = \sqrt{m} \begin{pmatrix} 0 \\ 0 \\ -1 \end{pmatrix}$ ,  $V_{\Delta} = \sqrt{m} \begin{pmatrix} 0 \\ 0 \\ -1 \end{pmatrix}$  Physical spin-up positrons have  $\chi_L = \begin{pmatrix} 0 \\ 1 \\ 0 \end{pmatrix}$ .

this comes from & FT.

Can construct solution for general & with borntz transformations,

For now, will just write down the solution and check that It works:

$$u(\rho) = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \xi_5 \\ \sqrt{\rho \cdot \overline{\sigma}} & \xi_5 \end{pmatrix}, \quad v(\rho) = \begin{pmatrix} \sqrt{\rho \cdot \overline{\sigma}} & \gamma_5 \\ -\sqrt{\rho \cdot \overline{\sigma}} & \gamma_5 \end{pmatrix} \quad were \quad \xi_1 = \gamma_1 = \begin{pmatrix} 1 \\ 0 \end{pmatrix}, \quad \xi_2 = \gamma_2 = \begin{pmatrix} 0 \\ 1 \end{pmatrix}$$

$$\frac{s}{u(\rho)} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix}, \quad \frac{s}{v(\rho)} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \eta_{5} \end{pmatrix} \quad \text{where} \quad \xi_{1} = \eta_{1} = \begin{pmatrix} 0 \end{pmatrix}, \quad \xi_{2} = \eta_{2} = \begin{pmatrix} 0 \end{pmatrix} \\
-\sqrt{\rho \cdot \sigma} & \eta_{5} \end{pmatrix} \quad (s = 1, 2)$$
Check Dirac equation for  $u$ :
$$\begin{pmatrix} 0 & \rho \cdot \sigma & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \rho \cdot \overline{\sigma} & 0 & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \end{pmatrix} = \begin{pmatrix} \sqrt{\rho \cdot \sigma} & \sqrt{\rho \cdot \sigma} & \xi_{5} \\ \sqrt{\rho \cdot \sigma} & \sqrt{\rho$$

To see how the spinors behave, let's let  $\vec{p} = p_2 \hat{z}$ :

$$\rho \cdot \sigma = \begin{pmatrix} E - \rho_2 & \sigma \\ \sigma & E + \rho_2 \end{pmatrix}, \quad \rho \cdot \overline{\sigma} = \begin{pmatrix} E + \rho_2 & \sigma \\ \sigma & E - \rho_2 \end{pmatrix}, \quad \text{and since these matrices}$$
are already diagonal taking the square root is unambiguous

$$U_{1} = \begin{pmatrix} \sqrt{E-\rho_{2}} \\ 0 \\ \sqrt{E+\rho_{2}} \end{pmatrix}, \quad U_{2} = \begin{pmatrix} \sqrt{E+\rho_{2}} \\ 0 \\ \sqrt{E-\rho_{2}} \end{pmatrix}, \quad V_{1} = \begin{pmatrix} \sqrt{E-\rho_{2}} \\ 0 \\ \sqrt{E-\rho_{2}} \end{pmatrix}, \quad V_{2} = \begin{pmatrix} \sqrt{E+\rho_{2}} \\ 0 \\ -\sqrt{E-\rho_{2}} \end{pmatrix}$$

NOTE: very bad typo in Schuatz 2nd edition eq. (11,26)!

If EDDM, E~ |Pz|. For Pz>0 (motion along +z-axis),

$$U_{i}(\rho) \stackrel{\sim}{\sim} \sqrt{\sum E} \begin{pmatrix} 0 \\ 0 \\ 0 \end{pmatrix}$$
.  $\chi_{L} = 0$ , so this is a purely right-handed spinor

But &= (1) means spin-up along 2-axis! this electron also has helicity -1, or has right-handed polarization in the traditional sense.

=> for massless particles, Chimlity and helicity are the same (right-handed spinor = right-handed particle)

What about antiparticles? A positron moving in the +2 direction [10] with spin-up along 2-axis is still a right-handel antiparticle, but its spino is

 $V_{2}(p) = \begin{pmatrix} 0 \\ \sqrt{E+p_{2}} \end{pmatrix} \hat{\Sigma} \int_{E} \begin{pmatrix} 0 \\ 1 \\ 0 \\ 0 \end{pmatrix}$ , which is pure  $X_{L}$ . Helicity and chirality

are opposite for antiparticles.

Think of us and vs as column vectors and  $\bar{u} = u^+ Y^0$ ,  $\bar{v} = v^+ Y^0$  as row vectors.

Useful idutities for what follows;

$$\overline{u}_{S}(p) u_{S'}(p) = u_{S}^{\dagger}(p) Y^{o} u_{S'}(p) = \left(\xi_{S}^{\dagger} \sqrt{p \cdot \sigma} \xi_{S}^{\dagger} \sqrt{p \cdot \sigma} \xi_{S'}\right) \left(\sqrt{p \cdot \sigma} \xi_{S'}\right)$$

$$=\left(\overline{\xi}_{s}^{+}+\xi_{s}^{+}\right)\left(\sqrt{(\rho\cdot\sigma)(\rho\cdot\overline{\sigma})}\right)\left(\overline{\xi}_{s}^{*}\right)=2\pi\delta_{ss}^{*},$$

Similarly, 
$$u_s^{\dagger}(\rho)u_{s'}(\rho) = (\xi_s^{\dagger}, \xi_s^{\dagger}) \left(\rho \cdot \sigma\right) \left(\xi_{s'}\right) = 2E \delta_{ss'}$$
 (note: not Local-invariant!)

Analogous for V (check yourse(f)?

 $V_{5}(p) \, v_{5}(p) = -2 \, m \, S_{55}, \quad V_{5}(p) \, v_{5}(p) = 2 \, E \, S_{55},$ 

We've been a bit fast and loose with metalx notation. The above were irrer products: contract two 4-component spinors to got a numbe.

Car also take outer products to get a 9x4 matrix:

= Us(p) us(p) = p & + m 1 qxq = p + m (Feynnan slash notation)

note the oder of u and u, and some spin index! Ž ν<sub>s</sub>(ρ) ν<sub>s</sub>(ρ) = ρ - π A H W

Gauge-Fixed Maxwell eque(ses. DAn = 0, 2^An = 0

Again, look for solutions An= En(p) e-ipx. We did this in week 4;

in a frame where pm=(E,O,O,E), we have

 $E_{n}^{(1)} = (0,1,0,0), E_{n}^{(2)} = (0,0,1,0), E_{n}^{\dagger} = (1,0,0,1)$ 

Recall tot is unphysical because it has zero norm. However, we need to include it because the nix with it wher a Lorentz transformation.

Explicitly, let  $N_{\nu} = \begin{pmatrix} 3/2 & 1 & 0 & -1/2 \\ 1 & 1 & 0 & -1 \\ 0 & 0 & 1 & 0 \\ 1/2 & 1 & 0 & 1/2 \end{pmatrix}$ . Can check 3/7/9 N = 1, also  $N_{\nu} p^{\nu} = p^{\nu}$ ,

So A preserve, p. However, A, En, = (1,1,0,1) = Ev+Ev, so Lorentz transformations can generate the unphysical polarization.

But it turns out that in QED, all amplitudes MM(p) involving an external photon with momentum por satisfy promise of. This is the word illtity, and because the xpm, this unphysical polarization doesn't contribute to any observable quantity, (More on his later!)

Analogous to spinors, we can compute inner and outer products:  $E_{n}^{(i)} = -\delta^{(i)}$ , i = 1, 2

 $\stackrel{2}{\underset{i=1}{\sum}} e^{n(i)} e^{v(i)} = \begin{pmatrix} 0 \\ 0 \\ 0 \end{pmatrix} + \begin{pmatrix} 0 \\ 0 \\ 0 \end{pmatrix} = -y^{nv} + \begin{pmatrix} 1 \\ 0 \\ 0 \\ -1 \end{pmatrix}$ 

= - ynv + prp+prp

where  $\overline{p} = (E, 0, 0, -E)$ . But by the agrimments above, the  $p^{-n}$  will always contract to zero, so we con say

€ e m(i) D ∈ V(i) → - η m (again, sum over spins gives a matrix)